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Well-answered by most candidates. Some candidates struggled on using the Huxley model to 
determine the tension-velocity relationship. 
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On the whole the question was reasonably well attempted but a number of students were 
confused on the dual role of myglobin. 
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A pObPularfanddstraightforward question, well-answered by most candidates However 
num er 0 stu ents not understand why spectrin is a bend' .,a 
a stretching structure at another length scale. mg structure at one length scale and 
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~~--;:-An unpopular question similar to the previous year. The students struggled with calculating 

. the shear strength of the square lattice. 
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